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‘\gth‘iﬂﬂ\ ¢ N i apce prmlded -wrltlng, Cutting, Using of lead pencil
s?nfmarks All questions are to be attempted, :

\J\E;ch question has four possible answers, Tick \ ) the correct answer.  (12)
1 Which of the following Is the longest length; ‘

A 10" m 8 103m Cl  10°um ‘Dl 'mm
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2 | Graphically a veclur s mpresented by 2 01
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| A Arrow head B Astralght line | C | curvud line —‘\l Aduuhle arow

o ————

3 | The wings of flying birds perfnn'n motion;

L o ,

| ‘ A TIHHS]HtW 8  Vibratory ‘ C ‘ Ruta’tury | Circulatory

| 4 {Mass is a quantitative measure of, W
A Force | g | Mntmn K Ine @ 6;0 eight

5 Mumanlumls aqualtu _ ¢
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fisturbed allgm}m en its centre of gravity is

f— : r‘-;. LI I-—E_‘:h-‘”
| -.l ¢ \ Msgﬂ}]}gmﬁ “Tg|  Lowered | ¢! Neither raised |1 None of these

l'..d"'.,q \ o slightly | not lowered . ?\

] i Nane of these
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| 4 ‘ Mass » spee:

75\ Kilogram |n| Joul

| 1IJ ‘ The density of mercury in Kg m |

A 1000 | B‘ 00 C GO0 D 13500
11 Whlr.h one has tuml freezing point;
o | B 0 | g i A"{IN ™™
.wwa[\,nl _Water B‘ Marr.ury .\mkﬂﬂ% Wax D | Alcohol
12 Thermal conductivity of a rod does not depend on;
A Length BI Mass C | Cross-section D Nature of
area material

— ~ [The End)



